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Gegeben ist der Graph einer quadratischen Tex)
Funktion f . Kreuze den (die) Graph(en)

der Stammfunktion(en) von f an. /“——\ §

N <N
F(x) F(x)
Xy
[ 6 5 4 3 2 10 1 2 3 4 5 6 X
1 6 5 4 3 -2 10 1 2 3 4 5 6
-1
/] 5/\
5 |F() F(x)
F
4 4
3 3
2 2
F 1 1
X Xy
6 -5 -4 -3 -2 -10 4 5 6 -6 4 -3 -2 -1 1 2 3 4 5 &6
-1 -1
-2 -2
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Losungen:

/] \F (X) /] \F (X)

[ 6 5 4 3 2 10 1 2 3 4 5 6 >
1 -6 5 4 3 2 10 1 2 3 4 5 6

y N
5 [F(X) 51F(x)
F

4 4

3 3

2 2
F 1 1

X Xy
6 5 4 3 2 10 2 5 6 -6 4 -3 -2 1 2 3 4 5 6
-1 -1
-2 -2
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